GAS LAW CALCULATIONS 2

1. If a pressure of 103.0 kPa was applied to a balloon with a volume of 60.0 mL at 95.0 kPa, what would the new volume be? P1V1 = P2V2

                                        0.0553 L
2. The volume of air under a piston is at 250.0 L.  Originally, the volume was at 1.50 L at a pressure of 145.0 kPa. What is the new pressure? P1V1 = P2V2
                                                                      0.870kPa
3. A balloon expands  from a volume of 25 mL to a volume of 64 mL.  The temperature started a 89 K then increased.  What is the final temperature?

V1  =    V2

T1        T2
                                                                                    230 K
4.  A weather balloon has a volume of 75 L at a temperature of 25 OC, and a pressure of 1.0 atm.  The balloon ascends to a lower pressure of 0.80 atm and a lower temperature of -15 OC.  What is the new volume?

P1V1 = P2V2

T1          T2

                                                                     81 L
5. A gas inside of a sealed can has a pressure of 210 kPa.  If the temperature changed from 60.0 OC to 30.0 OC, what would the new pressure be?  What would most likely happen to the structure of the can?

P1  =    P2

T1        T2

                                                                190kPa
6. What would the new temperature of Xenon be if the pressure changed from 0.50 atm to 0.80 atm? The original temperature was 62 OC and the volume stays constant. 

P1  =    P2

T1        T2

                                                              536 K
7. In a thermonuclear bomb, the pressure of 0.050 L of gas within the bomb casing reaches 4.0 x 106 atm.  When the bomb casing is destroyed by the explosion, the gas is released into the atmosphere where it reaches a pressure of 1.00 atm.  What is the volume of the gas after the explosion?
P1V1 = P2V2

                                                        200,000 L
8. The temperature inside my refrigerator is about 4.0 OC.  If I place a balloon in my fridge that initially has a temperature of 22 OC and a volume of 0.50 L.  What will be the volume of the balloon when it is fully cooled by my refrigerator?
V1  =    V2

T1        T2

                                                    0.47 L
9. Gay-Lussac’s Law was developed for use in fermenting wine.  The pressure of a dissolved gas in wine is at 1.25 atm and the temperature is raised from 12 OC to 32.0 OC, what will the new pressure be?
 P1  =    P2

T1        T2

                                             1.3 atm
10.  A gas has a volume of 806 mL at STP.  If the final volume of the gas was 1.85 L at a temperature of 301 K, what was the new pressure?
P1V1 = P2V2

T1          T2

                                        0.480 atm
11. Determine the temperature in Kelvin of 3.50 moles of gas contained in a 4.00 L vessel at a pressure of 460.0 mmHg.

PV = nRT

                                       8.42 K   
12. How many moles of a gas would 856 mL of a gas contain at a pressure of 120.0 kPa and a temperature of 44.5 OC?
PV = nRT

                                   0.0389 mol
